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ECE 2202 – Quiz #1
February 14, 2017

Keep this quiz closed and face up until you are told to begin.

1.  This quiz is closed book, closed notes.  You may use one 8.5” x 11” crib sheet, or its equivalent.
2.  Show all work on these pages.  Show all work necessary to complete the problem.  A solution without the appropriate work shown will receive no credit.  A solution which is not given in a reasonable order will lose credit.
3.  It is assumed that your work will begin on the same page as the problem statement.  If you choose to begin your work on another page, you must indicate this on the page with the problem statement, with a clear indication of where the work can be found.  If your work continues on to another page, indicate clearly where your work can be found.  Failure to indicate this clearly will result in a loss of credit.  
4.  Show all units in solutions, intermediate results, and figures.  Units in the quiz will be included between square brackets.
5.  Do not use red ink.  Do not use red pencil.
6.  You will have 30 minutes to work on this quiz.     


________________/20

Room for extra work
[bookmark: OLE_LINK1]
Use the circuit below to solve.  It is given that iA (1[s]) = 5.9[A].  Find iB (2[s]).
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RX =  4.7[k]


CX =  10[F]


LX =  3.3[mH]


iS(t) = 13[A/s2]t2



image2.png
271Q]

sAYAYAY, —
Uy
is(t) = 13[A/sz]t2 L= X L=
\ 3.9[H] 4.7[H]
iA llB

|
'\

5.6[F]
We \oesh\ by Tffml.'hj on Initial condition ‘o r

(5. We know
(pCies3) = S.alA]

A
Lo (i(3)= 130A/2] (1[53)2: 13(A]

50) with KCL 3;\11‘"3

Qn

Z-A+ZS+L~B:OJ weﬁei’

Lg (1€s7)=[~13 -5.9)EA] = ~18.95A7 .

/\/O“}) tle [,\A‘“to/‘: ave i1 F“"“‘//e/) So

)7
Leg = L A ) Lg = 533.?}‘*-77)) (4] = I3 §H)

MS;Y\s tL\ff) we Can Findk U;([{:)





image3.png
Since Uy and Ls are in the active §7gn conveation forlpy,
U - dis
(8= Lo 22 2 lanm)i3r))at)

=-55Y(¥) ¢
Now, with U_x(f)) we can Find "B () ,
and in particular, Ly (.:zgg)) as

lg(ags) = . (* ,
g(acs) P f Ux (t) dt + (g (1[,]))
1{s]

Since Z’.B and Uy are in the qus;’ve 51:7»4
cowvveation for LB- P}uja.\'\j /"l) we Sef

Afs]

L‘E [9\[53) = ;"7}‘;} j (-55,9/251] t)olt -)895A)
i1[s3
=((-55.4) 2 Afs3
(H-m:n ¢ /:m "87) (2





